Wheel Locks
Chairs with 12" Rear Wheels and Vent Tray




Chairs with 12" Rear Wheels and Vent Tray

Wheel Locks

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1055304 Screw, Socket Button Head (1/4-28 x 5/8") 1 2
2 1083099 Screw, Socket Button Head (1/4-28 x 1-1/2") 1 1
3 1028414 Handle, Wheel Lock, Black - Right/ Left 1 1
4 1026103 Washer, Nylon (1/4 x 1/2 x 1/32") 1 8
5 1025765 Locknut (1/4-28) 1 4
6 1055306-NLA | NLA - Screw, Button Head Cap (1/4-28 x 7/8") 1 1
7 1020363-NLA | NLA - Spacer (1/4 x 1/2 x 1/2") 1 1
8 1080551-NLA | NLA - Strap, Wheel Lock 1 1
9 1028411-NLA | NLA - Spacer (1/4 x 1/2 x 5/32") 1 1
10 1021405-NLA | NLA - Shoe, Wheel Lock 1 1
11 1018733-NLA | NLA - Link, Stop, Black 1 1
12 A 1094542-NLA | NLA - Wheel Lock Assembly, Right 1 1
12 A 1094543-NLA | NLA - Wheel Lock Assembly, Left 1 1
13 90036X000-NLA | NLA - Screw, Allen Head (1/4-28 x 1") 1 2
14 1079550-NLA | NLA - Clamp, Non-Threaded 1 1
15 1079551-NLA | NLA - Clamp, Threaded 1 1
16 1101207-NLA | NLA - Screw, Set Socket Cone Point (1/4-20 x 1/4") 1 2
17 B 1085266-NLA | NLA - Wheel Lock Clamp Hardware 1 2
18 1128817 Package, Tip, Rubber, Black (Pkg. of 10) 1 1
19 1013218 Washer (#10 Flat) 1 1
20 1038597-NLA | NLA - Handle, Extension, Black (6") 1 1
21 1038662-NLA | NLA - Cord, Elastic 1 1
22 C 1063125 Wheel Lock Extension Handle Assembly 1 1
22 C 1038599 Wheel Lock Extension Handle Assembly, Black (6") 2 1
(Pair)
D 1039644-NLA | NLA - Instruction Sheet, Wheel Lock Extensions 1 1
NOTE: A -Includes items 1-11
B - Includes items 13-16
C - Includes items 18-21
D - Not Shown




